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JE BEHERT = 44, 248, 958
EHET = 105, 088
AL T =Y 105, 088
SEEET = 12, 727, 200
BIHIA - =14 T = 12,727,200 | EIEIF-N" 14 2, 000 m2
(BIHIA-" =V AA)
Temz B 2 12emPA T 8 W& As HAHRITR (
20)DS3000 I As BRITTAL (20)DS3000 ;
HOE i (mm gIE) 200 m3
TAT7IV NS
RISy 200 m3
TA77 bk (2. 35t/m3) ;
HEKHEY) T Y 2,172, 240
(== Y 133, 240
Pk T Y 2,039, 000 | fiEHEK 100 m
(TH-1-1)
HIE 240mm W& 240mm ;
BT T = 13, 681, 000
ERARI I AT T = 9, 580,000 | =} V- 400 m
Gr-A-4E sc@ids 100mLh F dh#REA IEE
B = V= 400 m
Gr-B—4E Bidt 100mPh F dhARE A IERE
5 (-4l T = 4,101, 000 |H&7E (FEMT) B 1A 300 m
PFE H=1. Im +HEGA WG SBlBE
X T = 1, 078, 020
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ECTE = 1 8

,020 | ECX R 1, 000 m
RETFE) FE 15em [ JEL Smm HEAKPESH

i =X B 800 m
RETFE) AR 15em [ L Smm HEAKPESH

i =X B 300 m
Wt =CFE) ¥° 777 45cm A JEL Smm HEAKME
AR

A A X R 2,000 m
N Avh AL FERR 15em A NEL

TE AT e it ek T Y 1 7,201, 900

B EY T 2 1 7,201,900 | FLAREEIE 80 %N
Wi ¢ 100 AL ¢ 60.5 HHESAREE 304
Pk

TR A 80 %N
A=K bR W ¢ 100 LA BELE 30
KL L

By A 200 A
¢ 80 HB50 A =% ¢ 250 w282 (ZR AL 1AH)
30ALL E

1 BB Eas )=} 100 m
15 W=500 t=7cm ;
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345,600 |HEAZvy b 100 m2
HE<y ML 250m2A0 ;
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539,870 |BREE 2, 000 m2
E#T X Bk HBES

PR 1,000 m2
JEH T Bk AR
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TEHX4y « Tfd - FER & #A iR
FE 3, 000 m2
FEIAE R 3, 000 m2
BRIEALSY 10 t
HEYE T 479, 040
HEETE LT 278,040 | )~ MRS L 30 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 201, 000 | BaE 30 m3
/)Y - hik (AT
RISy 30 m3
/) - bk BEA%)
A Y 5,919, 000
B EHT = 5,919, 000
[ERAE Xy = 44, 248, 958
HiE 2 = 5, 652, 800
BISTIGE: = 559, 800
Bl s X 58,800 | iH ik KaAT 4 1ERLE: 1 =
BGRESCGES (5 1) = 501, 000
B (FEHL) = 5, 093, 000
T = 49,901, 758
Bl gy = 22, 668, 000
T =5l = 72, 569, 758
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